
MONTAGEANLEITUNG//ASSEMBLY INSTRUCTION

Artikelnummer/ltem Number: N622P198527
N622P198528
N622P198529
N622P198530

Etagenbett   254*94.5*214(H)cm

180

12

9 3

6

4 4

4 4









St cklisteü

Seite 1/18

01

02

03

04

05

05

05

06

07

07

08

09

09

10

10

10

1011

12

12

13

14

14

15

16

17
17

18
19

20

21

22

23

24

25

26

27

28

29

30

30

29

30

30

45

31

31
31

3132

32

31

31

31

31

33

33

34

35

35

36

37 38

37
38

39

40

41

42

43

44

46 46

47

45
48

48

49

49

49 50

5152

53

54

55

54

55

56
57

58

5960

61

63

64

x2
x3

62

09

09

65



Seite 2/18

N622P198527

10 x4 x212

x128 29 x2

x124x123

30 x4

x245

x106

x232 40

41 x3 x142

x1

11 x1

x108 09 x1

x118

x126

x113

27 x125 x1

07 x2x305

x143 46 x2

x147 x248 x349 x255

Hardware-Liste N622P198527

C x109 E x17

F x6 G x20 H x11

Φ8x30

A x18

M6x70

B x38 D x11

M6x30

Φ6x70 M6x120 Φ6x110

K x40

Φ7x50

J x2

M6x60



Seite 3/18

N622P198528

x103 04 x1x102x101

15 x1 x116 17 x2 20 x119 x1

x214

31 x8 x238

39 x1

37 x221 x1 x122

x144 x150

M x2L x76 N x4 P x20 Q x40

S x8R x11 T x3 U x30 V x60

X x3W x3 Y x2

Φ4x25 M6x20 M6x40 Φ4x30 Φ4x20

Φ6x80 Φ6x90 Φ3.5x14 Φ3x30



N622P198530

51 x1 x152 x153 x254

x160

56 x1

x157 x158 x159 61 x1

63 x3

N622P198529

x233 35x134 x2

62 x1 64 x2

09 x3 36 x1

Seite 4/18

x165



C 60Φ8x30

Seite 5/18

Schritt 1-1

05

x3

06
07

x2

09
x4 10

x4

12

x2

14

x2

15

16

17
x2

19

C

C

C

C
C

C

C

C

C

C

C

C

C

C

C

C

CC

CC
C

C
C

CC
C

CC

CC

CC

CC

CC

CC

CC

CC

CC

CC

CC

CC



C 29Φ8x30

Seite 6/18

Schritt 1-2

20

21

22

40

42 43

45

x2
47

48

x2 49
x3

23

CC

CC

CC

CC

CC

CC

CC

CC

CC

CC

CC

CC

CC

CC

C

CC

CC

C

C

C

C



Seite 7/18

Schritt 2

Schritt 3

√√

A 18

B 18

M6x70 D 4

E 4

M6x30

01

02

03

04

A

05

06
07

07

08

10

10

05

10

10

05

09

09

09

09

A
B

A

A B

B

A
B

A

A B

B

A
B

A

A B
B

A
B

E

E

E
E

D

D
D

B

B A

A

B

A

B

B A

A

B

A

B

A

B

04

04

04

05

05

09

09

05

B

1

2

3

F 2Φ6x70

√

√

11 12

1213

F

F



Seite 8/18

Schritt 4

Schritt 5

√

√

F 4Φ6x70

11

13

12

12

01

02

04

03

F

F

F

F

01

02

04

03

14

14

16

15

17

19

18
20

21

22

Φ6x110

D 3

E 3

M6x30

H 8

B 20

M6x120G 20

G
G

B
B

G
G

B
B

G
G

B
B

G
G

B
B

GB

GBH

G
G B

B

G
G B

B

G
G

B
B

G
G

B
B

G

B
B

H

H

H

H

H

H

HD
D

D

E

E
E

15

17

17

18 E

E

E

D

D

D



Seite 9/18

Schritt 6

21

23

19

23
19

24

16

J 2M6x60

K 2Φ7x50

K

K

K

J
J

Schritt 7

01

04

16

20

N

E

25

26

27

2824

E

N

E

E

E

E

N

E

N

P

P

D

D

D

D

E

N 4M6x40

E 8

P 4Φ4x30

D 4M6x30

P

24
P

P

P

P

27

28

20

28

D

E

26

N

E

04



Seite 10/18

Schritt 8

Schritt 9

L 48Φ4x25

25

27

28

26

27

28

29

30

30

31

31

29

30

30

31

31

32

32

29

30

30

30

30

29

31

31

31

31

31

31

L

L

L

L

L

L

L

L

L

L

L

L

L

L

L

L

L

L

L

L

L

L

L

L

L

L

L

L

L

L

L

L

L

L

L

L

L

L

L

M

E

Φ4x25

M6x20

28

2

2

33

32

32

E

E

ML

L

L

L

L

L

L

L

L

L

L

L

L

L

33

ML

L

L

L

L

L

L

L

L

L

L

L

L

L



Seite 11/18

Schritt 10

Schritt 11

√

37

37

38 38

36

Q 10Φ4x20

Q
Q

Q

Q
Q

Q

Q

Q

Q

Q

Q 24Φ4x20

34

35

35

36 13

21

22

20

Q

QQ

QQ

Q Q

Q
Q

QQ

QQ

Q Q

Q

Q

QQ

QQ

Q Q
Q



Seite 12/18

Schritt 12

Schritt 13

√

C 12Φ8x30

40

41

41

41

42

41

CC

CC

39

02

43

42

40

H Φ6x110 3

R 3Φ6x80H

H

H

R

R

R



Seite 13/18

Schritt 14

Schritt 15

√

46

45

45

46

46

CC

CC

C 8Φ8x30

R 3Φ6x80

S 6Φ6x90

39

44

47

45

45

R

R

R

S

S

S

S

S

S



Seite 14/18

Schritt 16

Schritt 17

R 5Φ6x80

S 2Φ6x90

44

50

48

48

49

49

49

R

R

R

R

R

S

S

S

S

S

51

52

53

54

55

K 16Φ7x50

T 1

U 2Φ3.5x14
K

K

K
K

K
K

KK

K

K
K

K
K

T
U
U

51

52

K

K

K

K
K

K
K

K

√



Seite 15/18

Schritt 18

Schritt 19

√

√

K 14Φ7x50

T 1

U 2Φ3.5x14

56

57

58

5455

K
K

K
K

K
K

KK

K
K

K
K

T
U
U

K

K
K

K

K
K

56

57 58

K 8Φ7x50

T 1

U 2Φ3.5x14

59

65

60

61

K

K

K

K

K

T
U
U

K

K

59

K

K

K

K

60

61
TU

U



Seite 16/18

Schritt 20

50

01

52
53

54

P Φ4x30 16

39

02 43

42

52

57

60

P

P

P

P

PP

P

P

PP

P

P

PP

P

P

4457

60

39

Schritt 21

43

Q Φ4x20 6

42

62

Q

Q

Q

Q

Q

Q

02

39



Seite 17/18

Schritt 22

Schritt 23

√

√

√

V 60Φ3x30

V V V V V V V V V V V V V V VV V V V V V V V V V V V V V V

64

V V V V V V V V V V V
V V V

x3

63

U 6Φ3.5x14

U

U

W 3

X 3

W

X



Seite 18/18

Schritt 24

63

63

63

63

54

U 18Φ3.5x14

U UU

U UU


